/2 Session i Planes in S?:a.ce
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2 4\ Parametric %naféom -
(X/?/Z) = (X0/70/ 2,) + t (q/b}c>) teﬂe

M,b/c)'-{:g EQKka(eh'é(j ,

/ Poz()sa,y,,}zo) x:xo+@t}9=y,+bt)2:in+ct,
> Sjmme;tric eq,vwd:wm
J (for ato, b0, c+0)
X X"’Xo - 5‘30 2"20
a T T = &

Plaves n SD-—%‘gace,
2/\

2 Let B be +the péa,nc 'H"fol&jh

/Do = (Xo)y,,/ 20> with hormal
vector -l;)) = (A/b, c) #3.

For any point Pz(x,v,%))

We héwe,

=Y

g
o\

Pe P &

K 730_7> =0 <

(a,b,0) (Xx=%,9-9,,2-2,) =0 &

a (x—x,)+ b(y—y,)-kc(z—aa):o,
Egamft‘am for the plane :

'? Q(X-Xo\'k 6(7-907 +C(2—%J)=a

E)S-_ The. }o(ame, ‘L‘Ihrauﬁh P,, = (—/)5)2,) wWith normel
vector h = (1,-3,2) has equation
- (X =GN+ (-3)(y-5)+ 2 (2-2)=0 &
x=-23y+22 = -2 @




Mote : al(x=x)+b(y-9)+ c(z-2,)=0 &

a X + b}j +cz = aXx,+by,+c2,

Y Theorem : Every equation of the Fform

A X + by +cz =d
Where a #0, b#o or c+o , (s aun eg},vuch\am for a P(«ne

with normal  vector (a,b)c),

Prost : T4 Hor (nstauce CFo , we have

ax +by+rcz =4 S ax + by +C(z-%) =0
which s the eg(,uatc‘am for the plane thramjl«g (a)o)p_é)

with wormwal vector (a,t,c), g.e‘o(..

Ahj(cs between ,Ptcuaey and lines o4 [utersection

-

\9) ,o(au& with normal vector N * o P

@ Pla.uc with normal vector M * 3 )
e cwjle between n omd wi.

( seen trom the
Side)

e Tf b6=0 or O=m, then P amd @ are ?Da.r&(tct.

o T+ 620 and OF 7, theu the angle between P and @

is elther O or m=86 , wichever (s an acute &U/Ijle,
T ond @ lutersect tn a Lline.

Ex. P 2x+39-z -2
@ 4x + 5y +2 |
M

= (2,3,-1) , m o= (%5, 1)

Then



- =3
_Hi» 2-4+3% 5+ (01 22

IR Vers st Varester | VAT

cos (0) =

6= 24,83%° acute OK , so the anC& between

P oond @ o5 24,8%°

Line of (ntersection :
We Fiud two foot‘mts on the line .

Put x= | (ou‘bt\"trar(‘(,yy‘
2~I+33—z=-3§<:2=33+5 %@?
bl +5y 42 = | 4+5y +(3y+5)=|

Z = 39+5% P 2= 2—%

gy = — 8 9=-00.

'P’: (}}—),2) lies on both F(&hés.

Put x=5.

2-51‘39’&:'37&@ z = 3y I3 %@
4.5 + 5y +2 = | 20+53 +(Zy+l'3)=l
z = 3 | 2= |
= 3%@ %
&y = - 32 B= =

Pz = (5,-4¢,1) lles on both planes.

Direction vecetor

ey
V = P,PZ:?O&—P, = (5/'4‘/”'(I)‘(;Z>=(4;'3/-'>
Parametyc egaoctc‘av\ Lov the llne ot (utersection

(x,9,2) = (1,-1,2) +t(#-3,-1), teR




